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Sub-Section Number: 1
Sub-Section Id: 335472133
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354725431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following State governments recently planted one crore saplings on World Environment Day

20177 | FEARET # 9 17 T50 TR 3 5T &1 § U@ @Xis utel @i e uierer fgae 2017 U7 @y ar?
Correct : 1 Wrong : 0

Options :

1. ¥ Kerala | ¥

2. ® Karnataka | ®ic®

#® punjab | USTE

4. ¥ Madhya Pradesh | Aea Wy

w

Question Number : 2 Question Id : 3354725432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which one of the following musicians does not belong to Madhya Pradesh? | 79 # @ #19 @ @iilqer mea nga &
eIt LT 7
Correct : 1 Wrong : 0

Options :

1. #® Ustad Alauddin Khan | 3%TE STAEEH @4

2. ® Krishnarao Shankar Pandit | RS J%T gigT
3. ® Balkrishna Anand Rao | aagseT He Od

4. ¢ Pandit Shiv Kumar Sharma | dieq f&a gur smf

Question Number : 3 Question Id : 3354725433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Sanskrit University located in Madhya Pradesh? | 7ed USd H @egd fePalcenad #51 eod a7
Correct : 1 Wrong : 0

Options :

#® Bhopal | ¥HTa

# Indore | EER

¢ Ujjain | 3=19

# Jabalpur | JEeq

ol VR L

Question Number : 4 Question Id : 3354725434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the normal range of blood pressure present in human beings? | Agsal & IUTRT WA &1 G St 727 37
Correct : 1 Wrong : 0

Options :

1. ¥ 12080 mm | 12080 AT
2. % 110/70mm | 110{70 Tat
3. ¥ 140/80 mm | 140/80 Tawt
4. % 110/75Smm | 110{75 Tawt

Question Number : 5 Question Id : 3354725435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who started the Bhoodan Moverment? | Y& sTigle frd- T T om?

Options :

1. # Jayaprakash Narayan | ST TR0
2. ¥ Mahatma Gandhi | AgTEAT TTreft

3. ¢ Vinoba Bhave | E-ar v

4. # KM Munshi | %09 gsft

Question Number : 6 Question Id : 3354725436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the second largest river basin in the country? | 9 # GOl Gedl ST 74T GI0it F1 &1 §?
Correct: 1 Wrong : 0

Options :

1. ¢ The Godavari Basin | TigTa]r Zivit
2. ® The Ganga Basin | T gt

3. ¥ The Narmada Basin | 8T it
4. ® The Cauvery Basin | @1l il

Question Number : 7 Question Id : 3354725437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following programme is a flagship of rural employment programme in India? | Fg# @@= ar
FRIFH IR H TTHIOT TSR FIARH BT TS 37

Correct: 1 Wrong : 0

Options :

1. ¥ PMAGY | WigAgSiaTs
2. ¥ AMRUT | 3mg
3. ¥ HRIDAY | 24
4. ¥ MGNREGA | ®=0TTT
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Question Number : 8 Question Id : 3354725438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Indian Air Force Day’ is celebratedon ______________ of every year. | ‘AR Iy &1 g, Tad@ oy
_____________ T AT AT 21

Correct: 1 Wrong : 0

Options :

¢ 8th October | 8 3rgat
#® 9th October | 9 EFTeR
# 10th October | 10 S/FER

ol L B

#® 11th October | 11 SR

Question Number : 9 Question Id : 3354725439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich Article of the Constitution of India deals with the Fundamental Duties? | W & HlcreT @7 &1 T Sifeug
AT Fdcdl & Galad a7

Correct : 1 Wrong : 0

Options :

1. # Article 32 | argedg 32
2. # Article 50 | 3/ 50
3. ® Article 41 | argesg 41
4 ¢ Article 51 A | srE8g 51T

Question Number : 10 Question Id : 3354725440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich Indian player won the international cricketer of the Year Award at the CEAT Cricket Ratin

(CCR)
International Awards 20177 | Hig frde T (@idiem) sfaigia [@Ear 2017 ﬁ‘ﬁmwa‘?zrf@m@ﬁauf%a ST
TpeheT T [RERR SATaT?

Correct: 1 Wrong : 0

Options :

1. # virat Kohli | ot ®igat

2. ¢ Ravichandran Ashwin | Tideed s
3. ®¥ Ravindra Jadeja | Tiaw J29T

4. ® Rohit Sharma | Tiga sAf
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Question Number : 11 Question Id : 3354725441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an All India Service? | FRARET # & P19 I ARG 12 FaT 51 57
Correct : 1 Wrong : 0

Options :

1. # Indian Police Service | WRd T giere &ar
2 % Indian Forest Service | WA I daT

3. ® Indian Administrative Service | 9 I W9 daT
4. ¥ Indian Foreign Service | WRd T s |ar

Question Number : 12 Question Id : 3354725442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many states in India have coastlines? | IRT & fra+ Tl ® ge¢@r 27
Correct : 1 Wrong : 0

Options :

1. ¥ 10
2.¢¥9
3. %88
4. %7

Question Number : 13 Question Id : 3354725443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is known as the ‘Father of Indian Cinema’? | ‘AR 19 T80T & S9& & &0 H Topd AT a7 37
Correct : 1 Wrong : 0

Options :

1. ® V. Shantaram | ot SaRH

2. ® Prithvi Raj Kapoor | Qe &%

3. ¢ Dadasaheb Phalke | Z1aT @5d BTdd
4. ® Satyajit Ray | gcaiig

Question Number : 14 Question Id : 3354725444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

As per legend, the Bandhavgarh Fort is related to which pair of brothers? | TR #Tsil # SIFHR, areamg e
ToreT Tt T ST | Ga T g7

Options :

1. ¥ Ram-Lakshman | TH @&AT

2. ® Krishna-Balram | $ST-ga<d

3. ®¥ Ravan-Vibhishana | Treor-fenfigor

4. ®¥ Bharat-Shatrughna | ¥a- g9
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Question Number : 15 Question Id : 3354725445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narme the king who constructed the Jarma Masjid in Sehore. | 3@ T &1 A0 gd10 E @igK # ST ATCSE, aqane di?
Correct : 1 Wrong : 0

Options :

1. ¥ Mughisuddin Shah | giiggH a®
2. # allauddin Khilji | smag e et
3. ¥ Bhopal Nawab | HuTe e

4. ® Akbar | s/Fet

Question Number : 16 Question Id : 3354725446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the most prominent Buddhist religious site in Raisen? | T2 ¥ Had UGATT dlg dTH® €I H14 9T 57
Correct : 1 Wrong : 0

Options :

1. #® ashapuri | SITmgRY
2. ¢ Sanchi | Gt

# Bhimbetka | HiHeeaT
4. ® Delawadi | TAETET

w

Question Number : 17 Question Id : 3354725447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pisanhari ki Madhiya is related to which one of the following religious cormmunity? | Toa=gie &1 aigar gl &
& fore U el 9gea | Heltad 57

Correct : 1 Wrong : 0

Options :

1. ¥ Jains | 99

2. ® Buddhists | a5
# Muslims | GaaA
4. ® Sikhs | &g

w

Question Number : 18 Question Id : 3354725448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the birthplace of Baiju Bawra? | <[ sTaxT %7 -0 ®JIH Fg1 87
Correct : 1 Wrong : 0

Options :

29th Dec 17 Shift 2



29th Dec 17 Shift 2

#® Guna | TAT

#® aAshoknagar | ISR
® Agar Malwa | STTR ATAAT
. ¢ Chanderi | @iddl

e

Question Number : 19 Question Id : 3354725449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In Bhopal, the national level institution for fine arts is situated at _______. { T ®, @l ®er & Tog TPt wae d
e _______ R
Options :

1. ¥ Manav Sangrahalaya | H=d GUgTag
2. ® Hindi Bhawan | Tear 9a=

3. ¥ Manas Bhawan | AT HWa

4. ¢ Bharat Bhawan | 9Rd o

General Maths and General Aptitude

Question Number : 20 Question Id : 3354725450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gitanjali is a collection of poems by _______________. { T ZRT T 1T widarelt @1 Uw |UE 3
Correct : 1 Wrong : 0

Options :

1. ¥ Rabindranath Tagore | Te=ArT MK

2. ® Taslima Nasrin | TEAHT TG0

3. # Sunil Gangopadhyay | g-ie THTEATT

4. # Bankim Chandra Chatterjee | @fthH =g Zesil

Section Id : 335472134 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472134
Question Shuffling Allowed : Yes
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Question Number : 21 Question Id : 3354725451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If m+25=A and m-25=e_then what is the relation between Aand ® / TTC m+25=A Ud m-25=e,

d9 AUd e & &I T TEH 87
Options :
25+e=A

iy =
3 o S50+e=A

Question Number : 22 Question Id : 3354725452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& number m when multiplied by 12 gives the 4 digit number 2042. What is A7 | U% ST m el 12 § T0IT &1 A7 1
2 a7 4 3FHg GEAT 20A2 TR A FATE?

Correct : 1 Wrong : 0

Options :

1.¢¥5
28 2
389
4 8 1

Question Number : 23 Question Id : 3354725453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 7x* — 6x° + 8x? — 20x — 300 is divided by x + 2. then the remainder is: / f¢ 7x* — 6x° + 8x2 —
20x - 300 &t x +2 & fqsnfara f&ar ST, ar A9ES g

Correct : 1 Wrong : 0

Options :
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1. ¥ 68

2. ¢ -68
3. % -244
4 8 212

Question Number : 24 Question Id : 3354725454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the zero of the polynomial p(x) = 3x% — 1? /agu?: p(x)=3x*—1 &l P HT

&?

Correct: 1 Wrong : 0

Options :

4. %3

Question Number : 25 Question Id : 3354725455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
V3 *v1.2=?

Options :

1, % 36

6410
3@

% 3610

Question Number : 26 Question Id : 3354725456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the square root of 10897 | 1089 T aTige &7 g7
Correct : 1 Wrong : 0

Options :

1% g%
2. ¢ 33
3. % 381
4 8 27

Question Number : 27 Question Id : 3354725457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad f@iom

28, 68, 32, 36, 21
Correct : 1 Wrong : 0

Options :

1. 8 35
2 % 36
3. ¢ 37
4 % 38

Question Number : 28 Question Id : 3354725458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Double the difference of the numerator from the denorminator of the rational nurmber 297316 is: | UHT §&4T

2971316 % g & A F ST Bl AT FY
Correct : 1 Wrong : 0

Options :

1. % -19
2. % 19
3. % -38
4. ¢ 38

Question Number : 29 Question Id : 3354725459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AandBcompleteawork inls8 days, Band Cin 24 da}?S a_ndCandAin 36 davs. Who is the slowest amor;)_g":}ﬂ;,
B,and C? | AMRBUF i @l 18 RATH BeaRC 24 RATAua C 3R A 36 RATH i o 81 A, B, 3IRC H A Ag@aw @19 27

29th Dec 17 Shift 2



29th Dec 17 Shift 2
Options :
1, WG
2. 8B
-l
4. # Cannot be determined | =refica Ag1 foram <1 Terar

Question Number : 30 Question Id : 3354725460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The age of Rama is twelve times that of her son Sharon. If age of Sharon is 3 years, then what is the age of

Rama? | 0 &I 3 3T ¢ I 1 71 & oRg AT 81 Al I &l 39 3 T 3, 1 TH &1 39 F47T 87

Correct: 1 Wrong : 0

Options :

ol L
b3
n
o

V¥ 36

Question Number : 31 Question Id : 3354725461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The number in each box is the product of the numbers in the two boxes above which overlap

with the box. The sum of the numbers in the empty boxes is /96 Bed & §E&AT 34
ar et & el & Uene § A 5 39 fAue B w wfdcora #a g
Trel Beat T Tt &1 Aewd

6 | 5
‘ 30 ’
600
Options :
1. ¥ 20
2 ® 4
3 ¢ 24
4. ¥ 30

Question Number : 32 Question Id : 3354725462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 12 cows eat 756 kg of grass in 7 days, how much grass will be eaten by 15 cows in 10 days? | Iig 12 T 7
et # 756 Toreiumd T @aT 8, ar 10 oAt # 15 it gwy T G ATT?
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Options :
1. #® 1500 kg | 1500 Framm
2. ¥ 1200 kg | 1200 Toreriom
3. ¢ 1350 kg | 1350 Tramm

4. ® 1400 kg | 1400 Tratromm

Question Number : 33 Question Id : 3354725463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sum of the present ages of Abhi and his son is 50 years. Five years ago, Abhi's age was seven times the
%%e of his son. After 5 years, Abhi‘sgée will be: | 31T 3R I8 UF HT adAH I BT AN SO o 31 Uy oy gd, 31
ST I Y T S &1 19 AT 4 S a9 warnd, iy @1 sy g

Correct : 1 Wrong : 0

Options :

1. # 30 years | 30 7d
2. ® 40 years | 40 94
3. ¢ 45 years | 45 a4
4. ® g0 years | 60 T4

Question Number : 34 Question Id : 3354725464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The area of triangle XYZis 24 sq. cm. A, B are the midpoints of the sides XY and XZ
respectively. Further XY = XZ and C is the midpoint of YZ. Then the area of the shaded region

is: / BRIOT XYZ &7 ala%el 24 g3t JAT 81 A, B saAw a3l XY 3R XZ & A=y
faeg §1 s sifaRea Xy =Xz3IR YZ &1 A7 foaeg ¢ 81 o sreoifea & &t
&6 b .

Options :
1.v9
2-%g
3. % 18
4 8 12

Question Number : 35 Question Id : 3354725465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number which is neither prime nor composite is _______ { o T TEAT § A1 9 T ST 3T 9 51 94 2l
Correct : 1 Wrong : 0

Options :
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1.8 2
2. 83
3.¢¥1
4 8 4

Question Number : 36 Question Id : 3354725466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If x8 +2x° —4x* — 7x* + 9x? — 8x — 19 is divided by x + 1, the remainder is /afe x6+2x5 —4x* —

7x3 +9x2 — 8x — 19T x + 1 ¥ fAsnfarg far sw, ar 9uwe 2l

Options :
1. % 19
2.Y0

3 ® -19
4. % 10

Question Number : 37 Question Id : 3354725467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Add: 3+ 0.3 4+ 0.03+ 0.003 | S 3 + 0.3 + 0.03+ 0.003
Correct : 1 Wrong : 0

Options :

1. ¥ 393
2 809
3. ¢ 3.333
4. ¥ (3333

Question Number : 38 Question Id : 3354725468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the probability of getting a red ball when a ball is picked up from a bag containing 7 red balls and 5
blue balls? | 7 @A 1T 3T S et Nl aTet Uw 9 & Ja U g et %aawmﬁtafﬁméfﬁmmﬁmﬁ%?

Correct : 1 Wrong : 0

Options :

1. ¥ 5112
2, WP ED
3% 1712
4. % 17

Question Number : 39 Question Id : 3354725469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If one fourth of my a%er is equal to five times of my son's age. My son's age is 2 yrs. What is my age? | afe #q
ST T U DTS B G i ST & 5 T o aRTe g1 WY UF 1 31 2 o g1 WL 817 47 87

Correct: 1 Wrong : 0

Options :

1. ¥ 40 yrs | 40 =
2 ® 42yrs | 42 T8
3. % 38yrs [ 38 ad
4. % 36yrs | 36 a9

Question Number : 40 Question Id : 3354725470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If on subtracting 28 from a number, the remainder is one-third of the number, then what is 50% of the

number? | Afe TEIT & 28 BT UTW U, S GEAT BT Uk TIgTE BEET 21T 8, a7 6 @y 50% 74T §7
Correct : 1 Wrong : 0

Options :

1, % 23

2. % 24

3. ¥ 21

4. % 36
Section Id : 335472135
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472135
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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8ITeeT § Igia anf § -

General Hindi
Correct : 1 Wrong : 0

Options :

1. 8w
2 8 g

3. %%

4. v

Question Number : 42 Question Id : 3354725472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T, T, WIER _____________ YEETE]
Correct : 1 Wrong : 0

Options :

2 8 wrag
3 ® a7
4 ¢ &5

Question Number : 43 Question Id : 3354725473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I+ G+ T+ ST+ T A BTAAR -
Correct : 1 Wrong : 0

Options :

.

Question Number : 44 Question Id : 3354725474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

AJURIT deg B fore TR @ ST & -

Options :

1. ® Tica s |aeft
2. ® AT derelt
3. T & U Eerelt
4 % gyt wad
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Question Number : 45 Question Id : 3354725475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tarerer €1 S BT YEEIR & G @< GepdT g’ 59 a1 d 4 I WUTT ®1 gamem
Correct : 1 Wrong : 0

Options :

N o=
a4 §L a,

w
b3

-
b2

Question Number : 46 Question Id : 3354725476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘SIT wT AT g § @ | g?

Correct : 1 Wrong : 0

Options :

Question Number : 47 Question Id : 3354725477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

er g AT A5 F o UF s P A g waarg?
Correct : 1 Wrong : 0

Options :

w
¢
el

-
&

Question Number : 48 Question Id : 3354725478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

oy wT Y evg g A a @ arg?

Correct : 1 Wrong : 0

Options :
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1. ¥ g+
2.V IT+Eg
S+

w

s

Question Number : 49 Question Id : 3354725479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

TAEHTC FT AT feledg (g § & B9 9187
Options :

1. ¥ qE:+3MET

2. ¥ qH+AIRT

w

® TE+IR
® JHE+IR

-~

Question Number : 50 Question Id : 3354725480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘A% T A Jeg Mg AR BT AT E?

Correct : 1 Wrong : 0

Options :

1. ® arfdge
2. % 3ET
3. v g
4 % gg

=

Question Number : 51 Question Id : 3354725481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T eI | a4 e Mg R I 87
Correct : 1 Wrong : 0

Options :

1. ¥ a7y
2. % gy
3% ayq
4. ¥ IER

Question Number : 52 Question Id : 3354725482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ry g B g H & HT AT G0 27

Correct: 1 Wrong : 0

Options :
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1. ¥ goyzy qAH
2. ® Ty anE
3. ¢ FHYRT 9HE

4 ® ag,cilig qa19

Question Number : 53 Question Id : 3354725483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T IR AT Gerak T i g A A @ arg?

Correct: 1 Wrong : 0

Options :

1. ® ZmT FET
2. ¢ -9 4T
3. ® oA fommr
4. ® gEredt amEr

Question Number : 54 Question Id : 3354725484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TN FT Gg ST FFH A HTATE?

Correct: 1 Wrong : 0

Options :

Question Number : 55 Question Id : 3354725485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TG GO H 307 UST A g o 1 51 o0 ual
T qYE WHFEAT T 9T, AT @91 H 7207 52|
U A g A w87

Correct : 1 Wrong : 0

Options :

1. ® acgea ™
2. ® g
3. vV drw
4 ® giF @
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Question Number : 56 Question Id : 3354725486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TR FIer | |1 AT, TTe@dT I,
T G ST S, T U e
H I 9T PR 3 Tl [ddbed mu?

Correct : 1 Wrong : 0

Options :

1. ¢ AT SEFRT
2. ® HIF SEFR
® 29 FFT
4. ® JuwT AFFT

w

Question Number : 57 Question Id : 3354725487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T e H ®I9 AT THE 57
Correct : 1 Wrong : 0

Options :

1. % dcyey §HTH
2 ® Zzgug
3. ¢ FHYRYT GHTT

4. % qgsfily qurg

Question Number : 58 Question Id : 3354725488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Taerew # S It Uit ® & srid et sid@ R & IETgC0 adTeyl

Options :
1. 8 g94 (élaiﬁﬁﬁ ZTGY (’-ﬁ%_

2. ® #fidt favma s @
e YT | Zell Gl TRTGT I5T A0RT

3. ® FieT g FaeRT |91
agdl g ot fAfd - am

4. ¢ UF g7 g A IR & =T arfcwa
O - oo g oK g@a sritdsa

Question Number : 59 Question Id : 3354725489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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STgT U §1 AT g deg @ U 1w 0 &1 AT &1 9 arftv aref e § -
Correct : 1 Wrong : 0

Options :

1. v 2y
2. ¥ Juwm
3. ® faumaEr
4 ® gole

Question Number : 60 Question Id : 3354725490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: ~ ﬁ W gqﬂﬁ
Correct : 1 Wrong : 0

Options :

1. ¥ gid

2. % g1

4. ¢ afa
Section Id : 335472136
Section Number : 4

Fural ECOHOI'H}T and PEII'lChEl}FELti RElj

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472136
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Rabi cropping season in India is from

Options :
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1. # July to October | JaTe  STFgeR
2. ¥ October to March | 3/@geR & O
3. ¥ May to August | HE § STEq
4. ® Novernber to April | FaveT & e

Question Number : 62 Question Id : 3354725492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the best quality wheat of Madhya Pradesh known as? | A UGS &7 Tadl SiIET UEddT aTell 1T ®1- |7 57
Correct : 1 Wrong : 0

Options :

1. ¥ Bread wheat | 98 B
2. ® Annapoorna | SrqeT
3. ¢ Sharbati | SRedT

4. # Durum | W

Question Number : 63 Question Id : 3354725493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Maximurmn production of Soyabean in Madhya Pradesh is in which region? | Wed W2y & fAgieiias &= # sridewan
T IS 31dT &
Correct : 1 Wrong : 0

Options :

# Bundelkhand | geaas
# Baghelkhand | soed@s
' Malwa | ATaar

# Bhind | iz

o S

Question Number : 64 Question Id : 3354725494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following states is the largest producer of coffee in the country as of 20167 [ a4 2016 &
TR U ST o H & B9 AT T F1hT BT Gad FST JUISF 57

Correct : 1 Wrong : 0

Options :

1. ¥ Karnataka | @-ice®
2. ® Kerala | %
3. # andhra Pradesh | sIFRmey

4. # Tamil Nadu | aaTg
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Question Number : 65 Question Id : 3354725495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Deendayal Upadhyay Grarmin Kaushalya Yojana relates to skill developrment of : | ST JUTLATH UTHIT HILeAT
ﬁmﬁfg‘u' P T & Gated &

Correct: 1 Wrong : 0

Options :

1. # Exclusively SC/ST members | fasw &1 & gadtjgaet agqal
2. ® Women only | e AgaTalt

3. ® Students only | e gl

4. ¥ Rural youth | T Famsit

Question Number : 66 Question Id : 3354725496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

village Panchayath is organized under which article of the Constitution of India? / WRT & Fiere & Tore srfed
ST TTH TR EfﬁHTT%‘cr STaT 87

Correct : 1 Wrong : 0

Options :

1. ® Article 37 | 3rgedg 37
2. ® Article 38 | 3T 38
3. ® Article 39 | argedg 39
4

. ¢ Article 40 | aTe8g 40

&

Question Number : 67 Question Id : 3354725497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Provision for ‘Organisation of Village Panchayats' is contained under ________ in the Constitution of India. |

“TTH YT & Ga @ oy wiiere R & diden §
Correct : 1 Wrong : 0

Options :

¢ Directive Principles of State Policy | T[T Aifd & o4t grat
# Fundamental Rights | g SIferRt

# appendices | URidE
# Sixth Schedule | T8 /T

ol L I

Question Number : 68 Question Id : 3354725498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The government of India announced the first ever National Agricultural Policy in the year

L H ugelt TS FIY TS Y e

Correct: 1 Wrong : 0

Options :

#® 1989
® 1991
® 2015
4. ¢ 2000

L

Question Number : 69 Question Id : 3354725499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In India, The Coffee Act was enacted in: | 9RT H H1HT aefaaw _______ # arfaaiag T mar em
Correct : 1 Wrong : 0

Options :

1. ¥ 1942
2. ® 1947
8 1958
4. ® 1980

w

Question Number : 70 Question Id : 3354725500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

According to the Food and Agriculture Organization (FAO) of the United Nations, India was houseto ________
of the world’s buffaloes in 2008. | TFH TF & @Il 3T F TE (THUST) & GaTiedw, ARG 2008 H gi-ar & dat a7

Options :
1. ¥ 30.3%
2. ¥ 56.7%
3. ® 580.2%
4. ® 70.7%

Question Number : 71 Question Id : 3354725501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following committees was not related to the Panchayati Raj Institutions? | W=mad! T §&IH! &
e # & @1 91 GiTd arahed Tg1 417

Correct : 1 Wrong : 0

Options :
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1. ¥ Balwant rai Mehta Committee | S@ad T HgaT AHTT
2. ¥ Ashok Mehta Committee | a73eF HgaT GHTT

3. ® L M. Singhvi Committee | Ua. U, e a#id

4. ¥ Justice Ahamadi Committee | ~ITIHfd gHGT AMATd

Question Number : 72 Question Id : 3354725502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which was the first state to implement the Panchayati Raj System in post-independent India? | AT YRT &F a1
I T T HUTTetT Bl 6T e aTelT Ugell o i &7 217

Correct: 1 Wrong : 0

Options :

1. ¥ Gujarat | ToRIT

2 ® Kerala | o

3. ¥ Maharashtra | FgRTE
4. ¥ Rajasthan | T9eIH

Question Number : 73 Question Id : 3354725503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of the MGNREGA ? | AT & J58T 74T &7
Correct: 1 Wrong : 0

Options :

1. # Provide job in offices | @raiaat # i He= &AT
2. # Provide permanent job in panchayats | FEmdal # €t et Ue Her
3 ¢ Providin%?t least 100 dagfs of guaranteed wage employment in a financial year to every household |

Hede UiE) @ el fadta ad # @9 & %0 100 TEHT &1 TR Hg el TSR HeT HeT
4. ¥ Give unemployment allowance | SIS WET W& FCAT

Question Number : 74 Question Id : 3354725504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT a function of Madhya Pradesh Medicinal Plant Mission? | fRgiaiad # & a1 qea
e aftmefier term e @7 @ 51 87

Correct : 1 Wrong : 0

Options :

1. ® Providing grant on cultivation of medicinal plants | sfiwefiar oref @ @dT & o7 srga= &
2. ¢ Branding and selling medicinal plant produces | sfwefier fref & Ieumes &t it i o
3. # Establishing nurseries of medicinal plants | siwefier drerf &t 7= F4 Fear

4. ¥ Conducting workshops for growing medicinal plants | 3wtz tterf & G4t & &g FiamaTel &7 s er
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Question Number : 75 Question Id : 3354725505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The main objective of “Mukhya Mantri Gram Sadak Yojana” of Madhya Pradeshisto ________. | e TS
“TRET AT UTH TS @ AT BT 597 _______ 2l
Options :

1. ® Construct roads in general category villages having less than 500 population | S00 @ § FH JHEET ITet
G AV & Tt | GS@! ®T AT

2. ® Set up industries | IJTNT TATUT FEAT
3. ¢ Bring tribals to mainstrearmn | SASTa Al %1 JE TRT § AHT
4. # Establish educational institutions | & Teene wenitT #eaT

Question Number : 76 Question Id : 3354725506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Union budget 2017-18 proposed the setting up of dairy processing and infrastructure development fund
with a corpus of ________ over 3 years? | Hgid avie 2017-18 H ST TEEHT 37X STRaT e @1 ®I0T g 3 a9t
FomEmd @1 TATEr T weaTie TR TR Bl

Correct : 1 Wrong : 0

Options :

5000 crores | 5000 FRIE
#® 5000 crores | 6000 FRIT
#® 7000 crores { 7000 FT
¢ 8000 crores | 8000 TS

ol L

Question Number : 77 Question Id : 3354725507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is the first state to launch a ‘agro-solar policy' to encourage the farmers to utilize solar
energy? | WRTTRET # & 19 A1 UZAT U4 5 gl 01 I A A1 BT JUANT FA o WicdTgd o U 'FH-GIX A11d @ agmar
T mar g?

Correct : 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | Ae WG
2. ® Tamil Nadu | aaTg

3. ® West Bengal | UPam ama

4 ¢ Gujarat | ToRTT

Question Number : 78 Question Id : 3354725508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following is a Central Scheme to modernize foo rocessm and develop Agro-Processing

Clusters? | GTel THEH & STeweh e &% qﬂ—u‘rﬁf@mw | & I Gl eI AT 87
Correct: 1 Wrong : 0

Options :

1. ¥ SAHAYOG | |ganm
2. ¢ SAMPADA | |wgT
3. ¥ SAHAKAR | 989K
4. ® SAMYOG | g2

Question Number : 79 Question Id : 3354725509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What 1s the spe rogramme for Jammu & Kashmir under National Rural Livelihood Mission? | ITgi TTH0T
S 31 P o oy Ty spreferm @i |7 87

Options :
Computer Knowledge
1. ¢ Ummeed | Iiig
2. ® Asha | amam
3. ® Umang | 3T
4. ® Jannat | Jgd

Question Number : 80 Question Id : 3354725510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Price stabilization fund was established by the Government of India in 2014-15 to regulate the price volatility

of commodities like _______. | O TEORaT T IRd TaR gr12014-158 _______ ST FHISC T @l FiAd | Sresrdr
@ Afathe @ & oy wenfiT & mg o

Correct : 1 Wrong : 0

Options :

1. #® Cotton | HUTH

2. ® Sugarcane & Wheat | g7 3T T

3. ¥ Onion & Potatoes | W 37T 31T

4. ® None of the above | IURIw H @ FIE A1

Section Id : 335472137
Section Number : 5
Section type : Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472137
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does CC in e-mail stand for? | §-0a # CC Toraer o7 Uge@d giaT 27
Correct : 1 Wrong : 0

Options :

1. ¥ Common Copy | ®TAT HIdT
2. ¥ Carbon Copy | e &
3. ® Cost Copy | ®TH BT

4. ® Carbon Cost | FTdq BET

Question Number : 82 Question Id : 3354725512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
WWW stands for: | WWW T qof &7 ¢:

Options :

1. ® world Word Web | g o2 g

2. ¥ World Wide Web | Tig @158 dd

3. ® world Wide Webinar | gds a18s dfeR
4. ¥ world Wide Word | I72 a8 g2

Question Number : 83 Question Id : 3354725513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is a firewall? | BRRATA F4T &7
Correct : 1 Wrong : 0

Options :

29th Dec 17 Shift 2



29th Dec 17 Shift 2

1. % éi]a system that scans and removes viruses from a computer | a% FEHeH T FHYYLT & TR FI & HdT 3 AR

2. W % szésterg that prevents unauthorised access to a private network | g [6ded AT =i Aead a@ SETTagT

3. # A systern that allows users to make secure online money transfer [ g F4gqeA ST wIFaTei 1 GG SAT-TET
HAT TTAGT FC bl GiereT 2at gl

4 8 4 s%stem in which multiple computers are connected to one another | g [4geH Fad % FHIRET UF-ga

AT

Question Number : 84 Question Id : 3354725514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is a “systern hang”? | “feeH 3T Fa7 8?7
Correct : 1 Wrong : 0

Options :

1. ® The systern is infected by virus | g, amRE & GwHiHT 2]

2. ¢ The system is unresponsive to keyboard inputs | &qen, Fa1E gy & 7 ergaert 81
3. # The system is shutdown | T&qew, egmT &)

4. ® The system is on sleep mode | TEeH G0 71T W 3

Question Number : 85 Question Id : 3354725515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut ksg is used to apply or remove bold formatting in MS Excel? | UAUS UFad H, dide BIaeT dn #ie
T geT & ToiT 19 |t ATée it T SHAHTE Tl SITdT 37

Correct : 1 Wrong : 0

Options :

1. ¥ Ctrl + A
2. ¥ Ctrl + B
3. 8 Ctrl+C
4. % Ctrl+D

Question Number : 86 Question Id : 3354725516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the purpose of ‘Compare’ option in MS Word 20077 | UAUH a2 2007 H, ‘TG Toded &7 727 3599 57

Options :

1.8 %I]t compares style between selected texts in the document | Ig STFIHE H AAFCES SHHT & o1 TCISH @I ol
CIGHE

2. ® It compares two paragraphs in the docurnent | 9% STggdc # 3T T HT AT FaT 21
3. ¥ It compares two word documents | Ig 1 98 STHgHE &1 AT FaT gl
4. # It compares a word document with a PDF file | Ig &S B1Sd ¥ Q1 98 STFYHC T g1 HeaT gl
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Question Number : 87 Question Id : 3354725517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is present in a browser window? | U& sTawe fder # o # & Far IuiesT 87
Correct : 1 Wrong : 0

Options :

1. ¥ Home button | g1 @&
2. ® Page Layout | U #3M3T
3. # Font properties | %I+ 1T
4. ® Styles | ®wEA

Question Number : 88 Question Id : 3354725518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On which of the following output devices is soft copy often displayed? | $H & Tore s113eye fZamgd W ura. S
FTIT HEidia gIaT 27

Correct : 1 Wrong : 0

Options :

< Monitor | AT4ET

# Scanner | ¥

#® Printer | e

#® Key Board | #1-a12

o R

Question Number : 89 Question Id : 3354725519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following alignment is applied to the below text? / #r fGU 717 eave & fasd

# ¥ Sl A1 TASAHC oE] AT IRT 62

[Type a quote from the document or the
summary of an interesting point. You can
position the text box anywhere in the
document. Use the Text Box Tools tab to
change the formatting of the pull quote text
box.]

Options :

1. ® Right | 5T

2. ¢ Left | aue

3. #® Center | X

4. # Justified | TGRS
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Question Number : 90 Question Id : 3354725520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which % t%e following option is NOT available in MS word? | TAUE a2 # =t fou my et # &, @ ar ey
SUAelE ‘

Options :

1. ¥ Font | BT

2. % Bold | 9eE

3. ¢ Magic tool | AR® &

4. % [talic | zeiolw

Question Number : 91 Question Id : 3354725521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

NIC stands for: { NIC T q0f €7 &
Correct : 1 Wrong : 0

Options :

1. ¢ Network Interface Card | Jad e F12

2. ® Network Information Center | 9ead gHHIA deT
# No Internet Card | AT 53¢ T8

4. # Network Internet Card | 92ad get=e F1E

w

Question Number : 92 Question Id : 3354725522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following memory is volatile? | = # & @19 |1 AU, IR gldT 27
Correct: 1 Wrong : 0

Options :

1. ¥ RAM
2. ¥ ROM
3. ¥ PROM
4. ¥ EPROM

Question Number : 93 Question Id : 3354725523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Shrink One Page’ feature is available in which one of the following views in MS-Word 20077 [ TAU® a8 2007
H, fore g ® “Shrink One Page” ek IUAGR 51T 37

Correct: 1 Wrong : 0

Options :
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# Outline view | STTITAEA Y
¢ Print preview | fiiT figg
# Normal view | AT T
# Web layout view | dd #3T3T I

o S

Question Number : 94 Question Id : 3354725524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which command is used to search all the text files in any drive? | Tordl gga # @t TFqe BEed G & oy fod
FHIS BT IUANT ToF T AT 27

Correct: 1 Wrong : 0

Options :

#® Filel txt
& ¥ it

8 _*ixt

o A

# File2 txt

Question Number : 95 Question Id : 3354725525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the maximum data capacity of STP? | STP @ aifdeay STeT 40T FT 57
Correct : 1 Wrong : 0

Options :

£ 10 mbps

¢ 100 mbps

® 1000 mbps
# 10,000 mbps

o A

Question Number : 96 Question Id : 3354725526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following options is an example of software? | 9" # & a7 GTFTdaR FT UF IS 87
Correct: 1 Wrong : 0

Options :

1. #¥ Keyboard | #-aig

2. ¥ CPU | |nig

3. ® Joy Stick | g €

4. ¥ M5 Office | TAUH SITHd

Question Number : 97 Question Id : 3354725527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What acts as an intermediate between the user and the computer? | JFX (SUANTFRTT) TAT FHYILT & T STHITSTT
(Weraa) & & H HT FH BT 57

Correct: 1 Wrong : 0

Options :

1. # Printer | iz

2. ¢ Operating System | STRTET Reew
3. ® MS Office | AR Mg

4. ® Plotter | ATt

Question Number : 98 Question Id : 3354725528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the function of Ctrl+F6 in MS Excel 20077 | AT Ugdd 2007 ®, Ctrl+F6 &7 F271 #1d g1l 37
Correct : 1 Wrong : 0

Options :

1. #® Closes the workbook | Thg® dg FTaT gl

2. ¥ Switches to the next workbook | STl S U UgaTaT gl
3. # Minimizes the workbook | Zdg® ®1 HfHTES a7 8]

4. ® Restores the workbook | T ®I REEK FaT 2l

Question Number : 99 Question Id : 3354725529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
________ option removes text from a docurment and places it on the clipboard. |

AT DI Fe1AT & SR TH TaemalS oY w@ar gl
Options :

1. ¥ Cut | T

2. ® Format [ BTHE

3. ® Paste | UqT

4. ® Delete | 26l

Question Number : 100 Question Id : 3354725530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is CAPTCHA? | &0 4T 27

Options :

1. ¥ It is the test used before registering into websites to check if the user is human | Ig U% ¢qT § A1 daqme §
USHTER0T | Uget I ST edT & 1o oI 0T9d & a7 g

2. ® It is the privacy staternent that needs to be read before registering to a website | g U MU= 1T F § Fqa!
daaTEe # TSI F Uge U & SITasdedT gl

3. # It is the temporary password, when password is forgotten | Ig U@ STl UTHaS &, I §@F TEae Y I1d 5l
4. # [t is the one time password | 9% UF a1 FT UTHS 3l
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